DIN# ARK Q +38 096 01101 03

DIN 6885 PN 85001 PN 85002
-

dopma A
| ]

dopma B dopma AB
| ] [ ]

®opma C ®opma D
K _ .
| TiT ] l I |
L |
/2
dopma E
8x7 i 10x8 12x8

i i i 1 i i i i
o —— o r—— e | | L
[ [ HITH [

(o) (03+©)
b

b
dopma F
8x7i10x8 12x8
o] oI =]
A 1 A & _ F
B\~ YT
b b b
®opma G ®opma H ®opma J
| hr = s [ a A
' f 1
B E— — 46— -y
@_ {} ‘@ ———- f;tz—‘—"—‘
b b

1/4

www.dinmark.com.ua
info@dinmark.com.ua




DIN# ARK Q+38.096 0110103

DIN 6885 PN 85001 PN 85002

Poawmip/AiameTtp
o {2 ] 3 | 4 | 5 | 6 | 8 |0 | 2] 14|16 | 18
2 3 4 5 6 7 8 8 9 10 11
min 6 8 10 12 17 22 30 38 44 50 58
E — 8 10 12 17 22 30 38 44 50 58 65

-
N

1,8 25 3 3,5 4 5 5 55 6 7
1,4 1,8 2,3 2,8 33 33 33 3,8 4,3 4,4

] ] - - 3 3 3 3,5 4 4,5
35 4 5 6 8 8 8 9 11 11

- - - - 3,4 3,4 4,5 5,5 5,5 6,6
11
M6

N
-

Q
)
‘o

Q

IIIIIHIHIIIHH!H'H
'
1
1
1
'
N
SN
3
o
o
~

Q

1

]

1

1

1
(e}
»
(o0}
a
o
N
o

Q
<
w
<
w
<
S
<
o
<
o

—
1
1
1
1
1
NG
N
NG
~
w
N
>
-_—
>
—
>
oo

Q
<
w
<
w
<
S
<
o
<
o
<
)

—

!

1

1

1

!
N
o
o
o
o
~

—

1

1

1

1

1
~
(o]
=
o
=y
o
-
o
-
N

\F

'

1

1

1

'
o
o
~
©
©
-y

KpenixcHii
28UHM

- - - - - M3x8 M3x10 M4x10 M5x10 M5x10 M6x12

MpyxcuHHUU
naneyb

- - - - - 4x8 4x8 5x10 6x12 6x12 8x16

b - wmprHa
h - Bucota
| - AOBXMHO

2/4

www.dinmark.com.ua

info@dinmark.com.ua




DIN# ARK Q +38 096 01101 03

DIN 6885 PN 85001 PN 85002

Poawmip/AiomeTtp

o [.2 | 22 | 2 | 28 | 32 | 3 | 4 | 45 | 50 | 56 | 63 |
h 12 14 14 16 18 20 22 25 28 32 32

| n |

65 75 85 95 110 130 150 170 200 230 260
mox G 85 95 110 130 150 170 200 230 260 290
7,5 9 9 10 11 12 13 15 17 20 20
49 54 54 6,4 7.4 8,4 94 10,4 11,4 12,4 12,4
B 5,5 5,5 6,5 7 8 9 10 11 13 13
12 14 14 16 18 21 23 26 28 32 32
6,6 6,6 9 11 11 14 14 14 14 14 14
11 11 15 18 18 20 20 20 20 20 20
M6 M6 M8 M10 M10 M12 M12 M12 M12 M12 M12
e s 8 10 12 12 16 16 16 16 16 16
48 48 6 7.3 7.3 8,3 8,3 8,3 8,3 8,3 8,3
8 8 10 10 12 14 16 16 16 16 16
M6 M6 M8 M10 M10 M12 M12 M12 M12 M12 M12
| ds | 9 11 13 13 17 17 17 17 17 17
8 9 9 11 15 13 15 12 13 13
11 13 15 15 17 22 20 22 19 20 20
10 10 12 18 16 20 18 18 18 18 18
Méx12 | M6x16 | M8x16 | M10x16 | M10x20 | M12x25 | M12x25 | M12x30 | M12x30 | M12x35 | M12x35
8x16 | 8x16 | 10x20 | 12x24 | 12x24 | 16x30 | 16x30 | 16x30 | 16x32 | 16x32 | 16x32

b - wrpnHa
h - Bucorta
[ - AOBXUMHCO

3/4

www.dinmark.com.ua

info@dinmark.com.ua




DIN# ARK Q +38 096 01101 03

DIN 6885 PN 85001 PN 85002

Poamip/Aiametp
b 1 70 | 8 | 90 | 100
|~ S 40 = =
330 380 440 500
22 25 e 2
NP 144 | 154 | 174 | 195
36 40 25 2
o | 18 ] 22 | 2
26 26 = =
e | wre | M20 ] w20
| do w12 R 20 = 2
ns | ns | s | s
20 20 &2 2
BNETAS mis | mie | w20 | w20
| ds X 21 = =
B 18 2 2
24 25 28 al
24 <\\ZONWNE | Ze0
28UHM
nasaeuyb
b - wrpnHa
h - Brucota
[ - AOBXKUHQ

4/4

www.dinmark.com.ua

info@dinmark.com.ua




